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NN - I'pannna Ha ypOan ondar 14.60xa 100%
Al I-[%lerglébfebé BO CTaHOEHU KYKH 2.62xa 17.94%
g%ﬁ?ﬁgﬁé BO CTaHOEHM 3rpajin 6.09xa 41.73%
7 va P o v 0.188xa |  1.28%
T % KoMCpimania 1 jielloba HaMeHa 024xa |  1.64%
% Tapin macTiTy 0.69xa | 4.72%
7 va Ta B T Ty 0.0015xa |  0.01%
T e 0287xa |  1.96%
W Y M1, BESIOCHTIEICKH TATEKN 2.67xa | 18.34%
[:I INemayky naTeku 1.68xa | 11.50%
e 0096xa | 0:66%
=R TR 00 | 020%

JIETEHTIA:
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I'panuna na mrancku ondart 14.60 xa

I'pannna Ha rpajexxHa mapueia
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—— - —— OcosBuHa Ha yauna
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1T 711 A2 | cranGena 3rpaga | 499.15| 246.13| 1426.29 0.15 15.2/13.5 [T1+4/+3+11k HHU3a 24 Bo rpazgexsa napueaa 51.52.54.B3.B4 / 40% 49.30 168]7.1.168] A2] cranbena 3rpana | 504.76] 245.47] 1309.60] 0.15 15.2]11+4 CaMOCTOCH 22| Bo rpasiexkna mapuena| 51,62,64,B3,B4 / 40% 48.63
2 {712 A2 | cranGena 3rpaza | 108.85 75.241 344.67] 0.15 10.2 [TT+2+11k HH3a 6 [Bo rp.napu.u Ha napk.| 51.52.564,B3.B4 / 40% 69.12 169]7.1.169] Al | cranbena Kyka 282.61[ 135.63[ 542.52| 0.15 10.2 | TT+2+11k HM3a 7| Bo rpagekna naprenal 51,.B1 /10% 47.99
3 [7.1.3 A2 | cranGena 3rpama | 145.56] 100.96| 403.84[ 0.15 10.2 [ T+2+10x HHU3a 7| Bo rp.napu.u Ha napk.| 51,52.564,B3.B4 / 40% 69.35 170{7.1.170] A1l | cranGeHa KyKa 203.65[ 123.12[ 511.62| 0.15 10.2 | TT+2+11k IBOCH 6| BO rpagexHa napuena| 51,B1 /10% 60.45
4 1714 A2 | cranbena 3rpama | 263.27| 184.63| 808.87[ 0.15 10.2 [T1+2+11k HHM3a 14| Bo rp.mapi.u Ha napk.| 51,52.54.B3.B4 / 40% 69.96 171|7.1.171] A2 ] cranbena 3rpaga [ 501.39[ 250.21{ 1251.05] 0.15 13.5 [TT+3+]1k JIBOEH 22| Bo rpajiexkna napiesa| 51.52.54.B3.B4 / 40% 49.90
5 |7.1.5 A2 | cranbena 3rpajga | 548.43| 359.37[ 1796.85] 0.15 13.5 | I1+3+I1x HHI3a 31| Bo rp.napi.u Ha napk.| 51.52.54.B3.B4 / 40% 65.52 172|7.1.172] Al] cranbeHa KyKa 451.17f 167.19] 668.76] 0.15 10.2 | TT+2+11k HH3a 9] Bo rpasiexxna napuena| 51,B1 /10% 37.05
6 |7.1.6 A2 | cranbGena 3rpajga | 51991 347.45[ 1737.25] 0.15 15.2 | 11+4 nBoeH/Kank.nmoBp3} 30| Bo rp.mapi.u Ha mapk.| 51.52.54.B3.B4 / 40% 66.82 173|7.1.173] Al | cranOeHa KyKa 225.31 78.53| 314.12] 0.15 10.2 | TT+2+11k HHM3a 4| Bo rpanexxna mapueaal 51,.B1 /10% 34.85
7 (717 A2 | cran6GeHa 3rpaja | 663.89| 455.88] 2279.40| 0.15 152 [T1+4 nBoeH/Kank.moBp3f 39| Bo rp.mapi.u Ha mapk.| 51,52,.54,B3.B4 / 40% 68.66 174|7.1.174] Al | cranbeHa Kyka 490.54| 168.74| 674.96 0.15 10.2 [TI+2+11k CaMOCTOCH 9| Bo rpagieskna napuena| 51,B1 /10% 34.39
8 17.1.8 A2 | cranGena srpajia | 860.51| 496.03 | 2607.43| 0.15 15.2 [11+4 CaMOCTOEH 44| Bo rp.mapi.u Ha napk.| 51,52.54,B3.B4 / 40% 57.64 175[7.1.175] Al ]| cranGeHna Kyka 416.84| 176.46] 705.84| 0.15 10.2 | TT+2+11k CaMOCTOEH 9] Bo rpagexua napuenal 51.B1 /10% 42.33
9 [7.1.9 T A2 cranGenasrpaga| 496.78| 341.73]1708.65] 0.15 15.2|11+4 nBoeHn/Kank.nosp3l 29{Bo rp.mapu.u va napk.| 51,62.54,.B3.B4 / 40% 68.78 176]7.1.176] A1] cran6Gena KyKa 388.84] 160.69] 642.761 0.15 10.2 | TT+2+T1k HH3a 9| Bo rpafiexkHa napuena) b1.B1 /10% 41.32
10 |7.1.10 | A2 | cranGena srpaga | 531.17| 292.60[ 1463.00] 0.15 152 |11+4 nBOcH/Kank.moBp3f 25| Bo rp.mapi.u Ha mapk.| 51.52.54.B3.B4 / 40% 55.08 177]7.1.177] A1] cranGena xyka 153.64] 83.66] 334.64| 0.15 10.2 | IT+2+T1k HHU3a 4| Bo rpasieskna maprenal 51,.B1 /10% 54.46
11 |7.1.11 | A2 cran6ena 3rpajga | 518.03| 277.51] 1387.55] 0.15 15.2|11+4 CaMOCTOEH 24 [Bo rpasiexkna napuena 51,52.54,B3.B4 / 40% 53.57 178[7.1.178] A1l | cranGeHa KyKa 146.03] 102.0 408.00] 0.15 10.2 [TT+2+411x HHU3a 6| Bo rpajiexxna napuena| 51,B1 /10% 69.84
12 [7.1.12 | A2 cranbena 3rpaga| 54908 382.67] 2102.79] 0.15-1.2 162 | 11+4 HU3a 35|Bo rpaseskna napuena 51.52.54,.B3.B4 / 40% 69.69 179{7.1.179] A2 | cranbena 3rpaja 191.031 130841 592.75{ 0.15 102 | IT+2+1k HU3a 10| Bo rpaneskna mapuenal| 51.52.54.B3.B4 / 40% 68.49
13 |7.1.13 | A2 | cranGena srpaga| 601.84| 327.12 1635.60] 0.15-1.2 16.2 |[T1+4 HU3a 28 | Bo rpajexkHa napuena b1,62,64,B3.B4/40% 54.35 180[7.1.180] A2 | cranGenasrpafa| 722.06| 372.60| 1823.02] 0.15  [15.2/10.2 | TT+4/+2+11k HM3a 31[ Bo rpagexna napuenal 51,.52.54.B3.B4 / 40% 51.60
14 17.1.14 | A2 cranGena srpaga | 719.47| 503.00 | 2515.00 [ 0.15-1.2 16.2 |T1+4 HU3a 43| Bo rpasiekna napuenal 51,52.54.B3.B4 / 40% 69.91 181[7.1.181 A2 | cran6enasrpaga | 541.02| 271.69| 1358.45] 0.15 15.2 | 11+4 HH3a 23| Bo rpasiexkna mapiiena| 51,52.54,.B3.B4 / 40% 50.21
15 17.1.15 | A2 cranGena 3rpaga | 499.51[ 239.57(1197.85] 0.15-1.2 16.2 | T1+4 HU3a 20 |Bo rpajiexkHa napuesal 51.52,64.B3,B4 / 40% 47.96 182|7.1.182| Al| cranOeHa KyKa 185.29] 67.64| 270.56] 0.15 10.2 | TT+2+T1k HH3a 4| Ha mapKUHT 51,B1 /10% 36.50
16 |7.1.16 | A2]| cranbena3rpaga [ 681.99( 344.30] 1721.49] 0.15-1.2 16.2[11+4 HH3a 29| Bo rpajexxHa napuena 51,52.54.B3.B4/40% 50.48 183|7.1.183] A2 ]| cranbena 3rpaga [ 204.81[ 199.00{ 796.00] 0.15 10.2 | TT+2+11k HH3a 14| Bo rp.napu.u Ha napk. | 51,52.54,B3.B4 / 40% 97.16
17 17.1.17 | A2]| craun6ena 3rpaga | 168.88| 117.68] 641.32] 0.15 13.5| TT+3+11k CaMOCTOEH 11 |Ha mapKuUHT 51.52.54,.B3.B4 / 40% 69.68
18 |7.1.18 | Al | cranOeHa KykKa 292.99| 76.87| 307.48] 0.15 10.2 [TT+2+11k CaMOCTOEH 4|Bo rpasexkna mapuena 51,B1 /10% 26.23 185[7.1.185] A2 | cran6ena srpaga | 229.03| 160.00 640.00] 0.15 10.2 [TT+2+I1k CaMOCTOEH 11/ Bo rp.napi.u Ha mapk. | 51.52.54.B3.B4 / 40% 69.86
19 [7.1.19 | A2] cranGena 3rpajma | 588.54[ 383.22[ 1916.10] 0.15 15.2 | 11+4 HHU3a 33 |Bo rp.napi.u Ha napk.| 51,52.564,B3.B4 / 40% 65.11 186/7.1.186] Al | cranbeHa Kyka 283.91 71.95] 287.80] 0.15 10.2 | IT+2+11k CaMOCTOCH 4| Bo rpagexxHna napuena| 51,B1 /10% 25.34
20 [7.1.20 | A2 | cranGenasrpaga | 172.51{ 120.46{ 714.78] 0.15 13.5 [TT+3+1Ix HH3a 12 |Bo rp.napu.u Ha napk.| 51,62.64,B3,B4 / 40% 69.82 187|7.1.187| A2 | cran6ena srpaga | 727.89| 457.53| 2287.65] 0.15 152 11+4 CaMOCTO€H 39| Bo rpamexHna mapuesa| 51,652,64,B3,B4 / 40% 62.82
21 [7.1.21 | A1] cran6Gena Kyka 129.84| 89.86| 359.44] 0.15 10.2 [ T1+2+10k HI3a 5|80 rp.mapi.u Ha napk.| 51,B1 /10% 69.20 188]|7.1.188] A2] cranGena srpaga | 403.57| 181.40] 907.00] 0.15 13.5 | T1+3+11k IBOEH 15| Bo rpajiekHa napuesna| 51.62,54,83,B4 /40% 44.94
22 [7.1.22 | Al]| cranGeHa KyKa 134.77 80.77( 323.08] 0.15 10.2 [ TT+2+1Tk HHM3a 4[Bo rp.mapiLu Ha mapk.| 51,B1 /10% 65.86 189]7.1.189] A2 ] cranbena 3rpaja [ 287.51 179.42[ 897.10] 0.15 13.5 [T1+3+T0k JBOCH 15[ Bo rpasiexxna napuena| 51,52,64,B3,B4/40% 62.40
23 17.1.23 | Al[ cranbGena kyka 266.81| 140.52| 562.08| 0.15 10.2 | TT+2+1Tk CaMOCTOCH 7|Bo rpajiekHa mapiena 51.B1 /10% 52.66 190|7.1.190] A2 | cranbena srpajga | 48821| 262.93| 1163.77] 0.15 13.5 [ TT+3+1Tk/TT CaMOCTOCH 19| Bo rpasexna napuesna| 51,.52.54.B3.B4 / 40% 53.85
24 [7.1.24 | A2| crauGena srpama| 621.23]| 266.21] 1331.06 [ 0.15 152 11+4 CaMOCTOEH 23 |Bo rpasmexxna napuenal 51,.52.54,.B3.B4/40% 42.85 191{7.1.191] A2 ]| cranGena 3rpaja [ 2116.88 | 1440.08 IIOCTOEYKH 00JEKT
25 17.1.25 | Al| cran0OeHa KyKa 217.56| 111.661 446.64] 0.15 10.2 | IT+2+11k HH3a 6 [BO rpajiexkHa napuenal 51.B1 /10% 51.32 192]7.1.192] A2] cran6ena srpaga| 1539.06] 793.41] 2635.89] 0.15-1.2]1 16.2/8.0[ T1+4 /+1 CaMOCTOEH 50| Bo rpajeskna napiena| 51.52.54.B3.B4 / 40% 51.55
26 |7.1.26 | Al]| cranbena Kyka 128.89 84.88| 339.52| 0.15 10.2 | IT+2+11k HHU3a 5|Bo rp.napi.u Ha mapk.| B1,B1 /10% 65.85 193|7.1.193]| B4 | nenosHa 3rpama [ 1011.62[ 623.59 TIOCTOCYKH 00jeKT
27 [7.1.27 | A2 cranbena srpaga | 401.27] 268.10[ 1072.40] 0.15 10.2 | T+2+Ik HHU3a 19 |Bo rpasexkna napuenal 51,52.54,B3.B4 / 40% 66.81 194{7.1.194] A2 ]| cranGena 3rpajga | 500.54] 289.86| 1449.30] 0.15-1.2 16.2| I1+4 HM3a 25| Bo rpajexkna napuena| 51,.52.54,B3.B4 / 40% 57.90
28 [7.1.28 | A2| cranGena 3rpama| 841.20| 580.40| 3055.44( 0.15 152 11+4 HH3a 51|Bo rp.napu.u Ha napk.| 51,62,64,B3.B4 /40% 68.99 195/7.1.195] A2 | cranGena srpaja| 487.16] 289.82 1449.10] 0.15-1.2 16.2{T1+4 HHU3a 25| Bo rpajiexkna napuesa| 51,52.54,.B3.B4 / 40% 59.36
29 [7.1.29 | A2] cranbena 3rpajga | 1100.95] 505.70[ 2474.53] 0.15 15.2/10.2| TT+4/+2+Tk CaMOCTOEH 42 |Bo rpaeskHa napuena 51,.52.54,B3.B4 / 40% 45.93 196/7.1.196] A2 | cranbena 3rpaga| 520.86] 317.93[ 1589.65] 0.15-1.2 16.2 [ 11+4 HH3a 27| Bo rpajiexkHa napuena| 51.52.54.B3.B4 / 40% 61.03
30 [7.1.30 | A2]| cranGena3rpazga | 941.60| 582.87( 3121.95] 0.15 15.2|11+4 ABOeH/KanK.moBp3| 54|Bo rp.mapu.u Ha nmapk.| 51,62,64,B3,B4 / 40% 61.90 197[7.1.197 A2 ] cran6ena srpaga| 502.33| 348.64| 1743.20] 0.15-1.2 16.2 [ 11+4 HH3a 30| Bo rpageskna napuena| 51.52.54.B3.B4 / 40% 69.40
31 |7.1.31 | Al| cranbeHa Kyka 290.66| 101.53| 406.12 0.15 10.2 [ TT+2+1Tk JIBOEH/KaNK.IOBP3, 5| BO rpajexkHa napuena 51.B1 /10% 34.93 198]|7.1.198| Al | cranOeHa KyKa 161.96] 112.40| 482.39] 0.15 10.2 [ TT+2+1Tx HHU3a 6| Bo rpajiexkHa napuena| b1,B1 /10% 69.31
32 17.1.32 | A2| craubena 3rpaga | 2237.25] 1338.58 OCTOEUYKHU OO]EKT 199|7.1.199] Al | cranbena KyKa 210.02{ 145.01] 580.04] 0.15 10.2 | IT+2+10x HM3a 8[ Bo rpaexna mapuena| 51.B1 /10% 69.04
33 [7.1.33 | Al| cranGena KyKa 22221] 118.62| 474.48| 0.15 10.2 [TT+2+1Tk CaMOCTOEH 4 [Bo rpasieskna naprena 51,81 /10% 53.38 200[7.1.200] A1l | cranbena Kyka 76.01]  60.43 MMOCTOCYKH OOJEKT
34 [7.1.34 | Al]| cranbena KyKa 135.88 89.78| 359.12[ 0.15 10.2 [ TT+2+10x TBOEH 3[Bo rpanexna mapuenal 51.B1 /10% 66.07 201]7.1.201 A2]| cranbena 3rpajia | 347.74| 240.23 TIOCTOCYKH 00]eKT
35 17.1.35 | Al]| cranGena Kyka 258.471 139.94] 559.76] 0.15 10.2 | TT+2+I1k TBOEH 4]Bo rpagexna nmapuena 51.B1 /10% 54.14 202|7.1.2021 A2]| cran6Gena srpaga | 442.10| 247.46 TIOCTOCYKH 00jeKT
36 [7.1.36 | Al | cranbGena KyKa 215.64| 132.58| 530.32] 0.15 10.2 [TT+2+11k HHM3a 4|Bo rpasiexxna napuenal 51,B1 /10% 61.48 203{7.1.203| A2 | cranbena srpaga | 270.99| 185.14 IIOCTOCYKH 00]eKT
37 17.1.37 | Al | cranbeHa Kyka 112.46| 64.67| 258.68| 0.15 10.2 | IT+2+11k HH3a 2|Bo rp.napu.u Ha mapk.| 51,B1 /10% 57.50 204{7.1.204] A2 | craun6ena 3rpaga | 230.52| 116.90] 584.50( 0.15 152 T1+4 HH3a 10[ Bo rpameskna mapuena| 51,52.54.B3.B4 / 40% 50.71
38 17.1.38 | Al | cranbena KyKa 179.56| 106.94| 427.76] 0.15 10.2 | TT+2+11k HHU3a 4|Bo rp.napi.u Ha mapk.| 51,B1 /10% 59.55 205[7.1.205] A2 | craubena 3rpaga | 568.19| 335.41] 1677.05{ 0.15 13.5[I+3+0k [BOJHA/KAJK.NOBP} 29| Ha MApKKUHT 51,62.54,.B3.B4 / 40% 59.03
39 [7.1.39 | Al | cranbGena KyKa 462.16| 273.19] 1092.76| 0.15 10.2 | TT+2+T1k HH3a 11]Bo rpageskna napuena 51.B /10% 59.11 206]7.1.206f A2 | cranbena srpaga | 1574.25] 600.57 IIOCTOEYKH 00jEKT
40 [7.1.40 | Al| cranGena kyka 287.45| 176.01{ 704.04] 0.15 10.2 | TT+2+1Tk CaMOCTOCH 6 |BO rpajiexkHna napuesa 51.B1 /10% 61.23 207[7.1.207| B4 | nenosHa 3rpaga | 1413.35 CO apXUTEKTOHCKO-YPOAHUCTUUKHI IPOEKT
41 17.1.41 | Al [ cran6ena kyka 284.17] 159.09| 636.36| 0.15 10.2 [TT+2+11k CaMOCTOEH 6 [Bo rpasieskna mapienal 51,B1 /10% 55.98 208{7.1.208| E2 | TpacdocTanuna 35.76 18.28 18.28] --- 3.0(IT CaMOCTOEH - - HE Ce YTBpAYyBa e
42 17.1.42 | Al[ cran6ena Kyka 353.15] 204.26| 817.04] 0.15 10.2 | TT+2+T1Ik JBOCH 11|Bo rpagexHa napuena 51,B1 /10% 57.84 209[7.1.209| E2 | tpadocranuna 51.79 26.51 26.51| --- 3.0{IT CaMOCTOEH N HE ce YTBpAyBa -
43 [7.1.43 | Al [ ctanGeHa kyKa 341.02| 14947 597.88] 0.15 10.2 [ TT+2+11x JIBOEH 6 [Bo rpasiexkna napiena 51,B1 /10% 43.83 210]7.1.210| E2 | Tpacdocranuna 26.87 18.28 1828 --- 3.0|11 CaMOCTOEH - - HE ce YTBpIyBa -
44 17.1.44 | Al [ cran6ena Kyka 342.03| 163.26| 653.04] 0.15 10.2 | TT+2+11k TIBOCH 6 |Bo rpagexna napuena 51,B1 /10% 47.73 211|7.1.211] E2 | Tpadocranuua 27.75 19.25 19.25[ --- 3.0|101 CaMOCTOEH o HE ce YTBpAyBa -
4517.1.45 | Al] cranGena KyKa 582.51] 270.74] 1082.96 | 0.15 10.2 [TT+2+11k JABOCH 11 |Bo rpageskHa napuena b /10% 46.47 212(7.1.212] E2 | Tpadocrannna 41.95 19.25 19.25] --- 3.0[1I0 CaMOCTOEH - - HE ce YTBpIyBa -
46 [7.1.46 | Al | cranGena kyka 493.15] 245.70] 982.80 0.15 10.2 [TT+2+11k CaMOCTOEH 11 |Bo rpanexHa mapuena 51.B /10% 49.82 213[7.1.213| E2 | Tpacdocranuna 69.84 28.82 28.82| --- 3.0[10 CaMOCTOEH - - HE ce YTBpIyBa -
47 17.1.47 | Al[ cranGeHa kyka 186.83] 101.70| 406.80| 0.15 10.2 | TT+2+11x JABOCH 3[Bo rpanexHa mapuenal 51.B1 /10% 54.43 214{7.1.214] E2 | tpadocranuna 26.59 18.28 1828 --- 3.011T CaMOCTOCH ol He ce YTBpNyBa -
48 17.1.48 | Al [ cran6ena kyka 204.00| 101.74| 406.96 0.15 10.2 [ IT+2+11k JIBOCH 3[Bo rpajexna napuena 51.B1 /10% 49.87 215[7.1.215| E2 | Tpadocrannna 21.34 15.58 15.58| --- 3.0(IT CaMOCTOEH - - HE Ce YTBpAYyBa -—
49 [7.1.49 | Al [ cran6ena kyka 429.05] 195.36| 781.44( 0.15 10.2 | IT+2+11x CaMOCTOCH 6 |Bo rpanexxna mapuenal 51,B1 /10% 45.53 216|7.1.216] E2 | tpadocranuia 20.22 14.37 14.37| --- 3.0|11 CaMOCTOEH - - HE ce YTBpAyBa -
50 |7.1.50 | Al] cranbeHa Kyka 438.37] 195.58| 782.48] 0.15 10.2 | [1T+2+11k nBoen/kKank.nosp3l 6 [Bo rpajexna nmapiena 51.B1 /10% 44.62 217|7.1.217{ 1 | cnopt u pekpear] 216.60 ---
51 |7.1.51 | A2] cranGena srpaja | 786.54| 396.98| 1984.90 [ 0.15 15.2 | 11+4 nBoen/kank.nosp3] 34[Bo rpanexuna napuenal 51,52.54,B3.B4 / 40% 50.47
52 |7.1.52 | A2 cranbena3rpaga | 236.03| 109.33| 437.32] 0.15 10.2 [T1+2+]11k CaMOCTOCH 8 [Bo rpagexna napuenal 51,52,.54,B3.B4/40% 46.32
53 [7.1.53 | A2]| cranGena3rpaga | 241.44( 117.67| 470.68] 0.15 10.2 [ TT+2+11k CaMOCTOEH 8 [Bo rpagexna napuenal 51,52.54,.B3.B4/40% 48.73
54 [7.1.54 | A2]| cranbena 3rpaga | 763.99| 466.53 [ 2332.65] 0.15 15.2 | 11+4 HHM3a 40 [Bo rp.napi.u Ha napk.| 51,52.54.B3.B4 / 40% 61.06
55 [7.1.55 | Al | cranOeHa KyKa 206.821 13929| 557.16| 0.15 10.2 | TT+2+Ik HHU3a 7 |Bo rpasiexkna napuenal 51,B1 /10% 67.34
56 |7.1.56 | Al]| cranbena Kyka 20044 | 98.83[ 395.32] 0.15 10.2 [TT+2+11k HH3a 3|Bo rp.napiu.u Ha mapk.| 51,B1 /10% 49.30
57 |7.1.57 | Al| cranGena Kyka 245.00] 171.00] 815.97] 0.15 10.2[TT+2+10k HM3a 6 [Bo rp.mapu.u Ha napk.| 51,B1 /10% 69.80
58 |7.1.58 | Al cranGena KyKa 136.57] 8522 340.88] 0.15 10.2 [TT+2+10k JBOCH 3[Bo rpajiexxna nmapuesaa 51.B1 /10% 62.40
59 [7.1.59 | Al]| cranOeHa KyKa 144.07 75.15( 300.60] 0.15 10.2 [IT+2+11k JBOCH 3 [Bo rpasexHa napuenal 51,B1 /10% 52.16
60 |7.1.60 | Al [ cran6Gena Kyka 213.41| 102.89[ 411.56] 0.15 10.2 | 1+2+11k ABOCH 5|Bo rpajeskna mapuena 51.B1 /10% 48.21
61 |7.1.61 | Al[ cran6ena kyka 321.57 91.59 IOCTOEYKH OOJEKT
62 |7.1.62 | Al| cranGena KyKa 351.09| 161.80| 647.20{ 0.15 10.2 [TT+2+11k ABOECH 6 |BO rpajekHa napuena 51,B1 /10% 46.08
63 [7.1.63 | Al[ ctanGena xkyka 204.78 97.93] 391.721 0.15 10.2 | T+2+11x HHI3a 3[Bo rpanexna mapuenal 51.B1 /10% 47.82
64 17.1.64 | Al [ cran6ena kyka 196.73| 119.07] 476.68| 0.15 10.2 | TT+2+I1k HHU3a 4 [Bo rpagiexxna mapuesna 51,B1 /10% 60.56
65 [7.1.65 | Al|[ ctanGena xkyka 90.03 53.82 161.46] 0.15 7.2 [ TT+1+10x CaMOCTOCH 2 [Bo rpagiexxna nmapuesa 51,B1 /10% 59.78
66 |7.1.66 | Al [ cranbeHa Kyka 111.86 74.51| 298.04 0.15 10.2 [ TT+2+1Tk HHU3a 3[Bo rpanexkua napuenal B1,B1 /10% 66.61
67 [7.1.67 | Al|[ ctan6ena kyka 99.94 56.351 169.05!] 0.15 72 TT+1+I0k HHU3a 2 |Bo rpagiexxna napienal 51.B1 /10% 56.38
68 [7.1.68 | Al|[ ctanGena xkyka 265271 130.68| 522.721 0.15 10.2 | IT+2+T1k CaMOCTOEH 4[B0 rpagexxna mapuesa 51,B1 /10% 49.26
69 |7.1.69 [ Al [ cran6ena kyka 234.39 82321 329.281 0.15 102 | T+2+Ik JIBOCH 3[Bo rpagexna napuena 51.B1 /10% 35.12
70 |7.1.70 | Al]| cranbena Kyka 22275 129.25| 517.00] 0.15 10.2 [ TT+2+11k ABOCH 4]Bo rpagexna napuena b1.B1 /10% 58.02
71 [7.1.71 | Al | cranOGeHa KyKa 117.34 5493 164.79| 0.15 72| I+1+k JIBOCH 2 |Bo rp.mapi.u Ha napk.| 51,B1 /10% 46.81
72 [7.1.72 | Al]| cranbGena Kyka 135.35 9217 368.68] 0.15 10.2 | I+2+IIx CaMOCTOEH 3|Bo rp.napi.u Ha mapk.| 51,.B1 /10% 68.09
73 [7.1.73 | Al | cranOeHa KyKa 34698 116.90| 467.60| 0.15 10.2 | TT+2+11k JIBOCH 3 [Bo rpasiexxna napueaal 51,B1 /10% 33.69
74 17.1.74 | Al cranGeHa KyKa 35311 114.76| 459.04] 0.15 10.2 | IT+2+10k JIBOCH 4[Bo rpanexkna napuenal 51.B1 /10% 32.49
75 17.1.75 | A2| cran6Gena3rpaja | 640.82| 389.05] 1945.25| 0.15 13.5 | TT+3+11k CaMOCTOEH 33 [Bo rpagexxHa napuena 51,.562.564.B3.B4 / 40% 60.71
76 17.1.76 | Al | cranbena KyKa 578.53] 152.54 MMOCTOCYKH O0JEKT
77 17.1.77 | Al | cranbena Kyka 303.38| 107.23 MIOCTOEYKHU O0JeKT
78 17.1.78 | Al cranGena kyKa 327.70] 122.12] 488.48] 0.15 10.2 [TT+2+10x CaMOCTOEH 4[Bo rpagieskna napuena 51,B1 /10% 37.26
79 [7.1.79 | Al | cranOeHa KyKa 414.40| 126.08 MOCTOCYKH 00jeKT
80 [7.1.80 | Al | cranbGena KyKa 426.41| 169.61| 678.44 0.15 10.2 | TT+2+T1k JBOCH 6 [BO rpajexHa napuenal 51,B1 /10% 39.77
81 |7.1.81 | Al| cranbGena Kyka 356.79| 151.12| 604.48] 0.15 10.2 | IT+2+11k IABOEH 6 [Bo rpajiexkHa napuena 51,B1 /10% 42.35
82 [7.1.82 | Al [ cranGeHna KyKa 303.56| 151.04| 604.16] 0.15 10.2 | TT+2+11k IBOCH 6[Bo rpanexxna napuenal 51 B1 /10% 49.75
83 |7.1.83 | Al | cranbena KyKa 300.78| 169.35| 677.40] 0.15 10.2 | T1+2+11k ABOCH 6 [Bo rpagexna napuenal 51.B /10% 56.30
84 [7.1.84 | Al| ctan6ena kyka 406.11] 142.49] 569.96| 0.15 10.2 [ TT+2+11k IBOEH 4]Bo rpagexHa napuena 51,B1 /10% 35.08
85 [7.1.85 | Al [ ctanGeHa kyKa 253.17| 133.65| 534.60] 0.15 10.2 | TT+2+11k ABOCH 4|Bo rpajexxHa napuenal 51,B1 /10% 52.79
86 [7.1.86 | A2| cranbena 3rpajga | 605.68| 289.40 [ 1447.00] 0.15 13.5 | T+3+I1k CaMOCTOCH 25|Bo rpaneskna mapuenal 51.52.54,B3.B4 /40% 47.48
87 [7.1.87 | A2]| cranbena 3rpajga | 749.41] 357.20[ 1786.00 | 0.15 13.5[T1+3+11k CaMOCTOEH 32 |Bo rpasnexHa napuenal 51,52.564,B3.B4 /40% 47.66
88 [7.1.88 | Al [ cranbena KyKa 472.37] 243.32( 913.04] 0.15 10.2/6.0[TT4+24+T1x/IT+1 _|caMOCTOEH 6 |BO rpaexxna nmapuenal 51,B1 /10% 51.51
89 |7.1.89 | A2]| cranbena3rpaga | 32622 152.97| 764.85] 0.15 13.5 | IT+3+I1x aBOcH/KanK.moBp3f 12|Bo rpanexHa mapuena 51,52.54.B3.B4/40% 46.89
90 [7.1.90 [ A2 [ cran6enasrpana| 670.161 354.93]1774.65] 0.15 13.5 | [T+3+Ik nBOocH/Kank.moBp3| 29 [Bo rpasexkna napuenal 51,52.54,.B3.B4 /40% 52.96
91 |7.1.91 [ A1l[ cran6ena kyka 271.641 162.06] 648.24] 0.15 102 | TT+2411k TBOEH 6 [Bo rpasiexxna napuenal 51,B1 /10% 59.65
92 17.1.92 | Al| cranGeHa KyKa 296.46] 103.82] 415.28] 0.15 102 [TT4+2+11k JIBOCH 3 |Bo rpajexna napuesna 51,B1 /10% 35.01
93 [7.1.93 | Al] cranGena kyka 455.06| 182.65[ 730.60] 0.15 102 [MM+2+10k IIBOEH 6 |Bo rpasiexxna napuenal 51.B1 [10% 40.13
94 17.1.94 | Al [ cran6ena kyka 24274 99.15[ 396.60| 0.15 10.2 | TT+2+I1k JIBOCH 3|Bo rpaexuna mapuenal 51.B1 /10% 40.84
95 17.1.95 | Al [ cran6ena kyka 244601 162.17] 648.68| 0.15 102 | TT+2+10x CaMOCTOEH 5[Bo rpagexna napuenal 51,B1 /10% 66.30
96 [7.1.96 | B1 [ o6pa3oBanme 6920.75 CO apXUTEKTOHCKO-YPOAHUCTUUKY TPOCKT
97 17.1.97 | A2 | cranGena 3rpaja | 845.99| 485.62| 2626.30( 0.15 152 11+4 nBoen/kank.nosp3l 44 [Bo rp.napu.u na napk.] 51,62.54,.B3.B4 / 40% 57.40
98 17.1.98 | A2 | cranbena 3rpama | 621.18] 414.72] 2206.27| 0.15 152 11+4 nBoen/Kank.nosp3l 37[Bo rp.mapi.u Ha mapk.| 51,52.54,.B3.B4 / 40% 66.76
99 [7.1.99 | A2 [ cran6ena srpama| 311.53] 125.33| 626.65] 0.15 13.5 | TT+3+I1k CaMOCTOEH 11]Bo rpaneskna napuena 51,.52.54,B3.B4 / 40% 40.23
100]7.1.100] A2 | cranbena 3rpaga | 1070.81] 659.93] 3299.65| 0.15 15.2 |11+4 IBOEH/KaNK.moBp3} 56 |Bo rp.mapu.u Ha napk.| 51.52.54.B3.B4 / 40% 61.62
101]7.1.101] A2 | cranGenasrpaga | 175.11{ 75.33] 301.32] 0.15 10.2 [ TT+2+1Tk nBOcH/Kank.moBp3} 5|Bo rpamexHa mapuena 51.52.54.B3.B4 /40% 43.01
102|7.1.102] Al | cranbena Kyka 131.16] 111.80 MOCTOCYKH 00jeKT
103|7.1.103] Al [ cranbeHa KyKa 12021 68.121 272.481 0.15 10.2 | ITT+2+11k HU3a 4|Bo rp.mapir.u Ha nmapk.| 51.B1 /10% 56.66
104]7.1.104] A1 | cranOeHa KyKa 139.60 76.15| 304.60] 0.15 10.2 [ TT+2+11k HH3a 4 [Bo rp.mapiLu Ha mapk.| 51,.B1 /10% 54.54
105[7.1.105] A1l]| cranbGena Kyka 231.94] 162.00] 648.00] 0.15 102 | TT+24 11k HU3a 9 [Bo rpasiexxna napuenal 51.B1 /10% 69.84
7.1.105/1] A2 | cranGena 3rpaja | 461.44| 223.10[ 1115.50] 0.15 152 11+4 HH3a 19 |Bo rpagexxHa napuenal 51,52.54.B3.B4 / 40% 48.34
106/7.1.106] O1 | napK.3eJI€HUIO 57.84 —
107|7.1.107] A2 | cranbena 3rpaja | 628.50| 313.52] 1487.05 0.15 15.2/10.2 T1+4/+2+1x CaMOCTOEH 26 |Bo rpagiexxna napuena) 51,52.54,.B3.B4 / 40% 49.88
108[7.1.108] A2 ]| cranbena 3rpaga| 200.51] 138.52[ 692.60 0.15 15.2 T1+4 HHU3a 12|Bo rp.mapi.u Ha mapk.| 51,52.654.B3.B4 / 40% 69.08
109(7.1.109] A2 | cranbena 3rpaja | 1002.30| 603.53 [ 3172.53] 0.15 15.2 [ T1+4 HHU3a 53 |Bo rp.napi.u Ha napk.| 51,62,64,B3,.B4 / 40% 60.21
110]7.1.110] A2 | cranGena 3rpaga| 502.09] 311.94] 1559.70( 0.15 152 10+4 HM3a 26 |Bo rp.napu.u Ha napk.| 51,62,64,83.84/40% 62.12
111]7.1.111] A2 cranGena srpaga | 224.80] 126.96| 507.84 0.15 12.2(1143 CaMOCTOEH 9[Bo rp.napu.u Ha napk.| 51.562.64,83.B4/40% 56.48
112{7.1.112] Al | cranOeHa KyKa 304.61[ 105.73 MOCTOCUYKH 00jeKT
113|7.1.113] Al | cranbeHa Kyka 287.86| 116.16 MMOCTOCUKH 00jeKT
114]7.1.114] A2] cran6ena srpaga | 208.87| 136.94] 580.00] 0.15 1221 11+3 CaMOCTOEH 9 |Ha TapKUHLD 51,52,54,B3,B4 / 40% 65.56
115[7.1.115] A2 | crantena srpaga | _492.17] 290.19] 1160.76] 0.15 122]11+3 JBOCH/KATK.0BD3] 21 |BO rpanekia napuena b1.52.54.B3.84 /40% 58.96 HET AJIEH YPEAHVNCTNYKUWU ITJIAH
116|7.1.116] A2 | cranbena 3rpajga | 123.22 86.00 | 344.00( 0.15 122 I1+3 nBoeH/Kank.nosp3l 6 [Bo rp.mapiLu Ha mapk.| 51,.52.54.B3.B4 / 40% 69.79
117|7.1.117] A2 | craun6ena 3rpaja | 286.99| 188.67 | 943.35| 0.15 13.5 [ TT4+3+11k KalIK.IIoBp3yBame| 16|80 rp.mapi.u va napk.| 51.52.54.B3.B4 / 40% 65.74
118{7.1.118] A2 | cranbena srpaga| 164.46| 113.27[ 566.35] 0.15 13.5 | TIT+3+T1k KaJIK.oBp3yBawe| 8|Bo rp.napu.u Ha mapk.| 51,52.54,B3.B4 / 40% 68.87 _
119]7.1.119] B2 | ron.tpr. emmanua|  911.74 | 752.59] 4233.75| 0.15 17.0 [T1+4 KaJIK.TIOBp3yBatbe|100 | Ha MapKUHT A2.A3.A4.53.54.B3.B5 /40% | 82.54 3a y3 7’ E‘HOK 7‘1 ()XI)I/III
120[7.1.120] A2 | cranbena 3rpajga| 716.07| 307.60[ 1538.00] 0.15 13.5[TT+3+11k nBoeH/Kank.moBp3l 26 [Bo rpaseskna napuenal 51.52.54.B3.B4 / 40% 42.95
121]7.1.121] A2] cran6ena srpaga | 269.73| 144.66| 578.64| 0.15 10.2 [ TT+2+11k nBoeH/Kank.nmoBp3| 10 |Bo rpagexxsa napuena 51,62,64.B3.B4/40% 53.63
122[7.1.122] A2 ] cran6ena srpaga| 446.30] 291.50] 1166.00] 0.15 10.2 [ TT+2+11k CaMOCTOEH 21[Bo rpagexua mapuenal 51.62.564.B3.B4/40% 65.31
123|7.1.123] A2 | craunbena3rpaga | 274.41] 108.43] 433.72] 0.15 10.2 | IT+2+10x HHU3a 8| Bo rpagexna napuenal 51,52.54.B3.B4 / 40% 39.51
124]7.1.124] A2 | cranGeHa 3rpaja | 471.83[ 299.68 [ 1498.40| 0.15 15.2(11+4 HU3a 25 [Bo rpafiexkna mapuenal 51.52.54.B3.B4 / 40% 63.51
125/7.1.125] A2 | cranGeHa 3rpaga | 161.45[ 99.10{ 396.40] 0.15 10.2 [TT+2+T1k HU3a 7|Bo rp.nmapi.u Ha napk.| 51,62,64,B3,B4 / 40% 61.38 2009 2014
126|7.1.126] A2 | cranbena 3rpaga | 517.27| 253.20] 1266.00| 0.15 15.2(11+4 CaMOCTOEH 22 |Bo rp.mapi.u Ha napk.| 51,.52.54.B3.B4/40% 48.94 =
127|7.1.127] A2 | cranbena 3rpaja | 507.84| 244.53] 1222.65| 0.15 15.2 | 11+4 CaMOCTOEH 21|Bo rpaneskHa napuena 51,.52.54,B3.B4 / 40% 48.15
128 7.1.128] A2 | crantena srpajga | 1185.47 | 786.15] 3930.75] 0.1512]  16.2]11+4 caMocToeH 67[Bo rpanesxia napuena b1.52.54.B3.84/40% 66.31 IIJTAH
129[7.1.129[ A2 | cranGena 3rpaja [ 605.19[ 409.71 MMOCTOCUKH 00jeKT A
130{7.1.130] A2 ]| cranbena 3rpaga| 521.66| 187.06 IIOCTOEYKH O0JEKT
131{7.1.131] A2 | cranbenasrpajga| 614.87| 173.44 MOCTOCUYKH 00jeKT OHHITI/IH OXPI/IH
132|7.1.132| A2 | cranbena 3rpaga | 727.01| 413.68 MMOCTOCYKH O0JEKT
133|7.1.133] Al | cranbena Kyka 472.95| 165.97| 663.88] 0.15 10.2 | TT+2+11k CaMOCTOEH 6|Bo rpageskna napuena 51.B1 /10% 35.09
134{7.1.134] Al | ctanOeHa KyKa 406.60] 146.851 587.40| 0.15 10.2 | TT+2+I1k CaMOCTOEH 6 [Bo rpagexna napuenal 51.B1 /10% 36.11
135[7.1.135] Al | cranGena kyKa 321.11] 144.87| 579.48] 0.15 10.2 [TI+2+10k CaMOCTOCH 6 |Bo rpanexna mapuena 51.B1 /10% 45.11
136/7.1.136] Al | cranOeHa KyKa 358.37] 81.98] 327.92| 0.15 10.2 | TT+2+11k CaMOCTOEH 3[Bo rpajexna mapuenal 51,.B1 /10% 22.87
137/7.1.137| A2 | cranGeHa 3rpaga | 408.44( 210.39{ 1051.95] 0.15 13.5 [ TT+3+11k HHU3a 21[Bo rpanexna napuena 51.52.64.B3.B4/40% 51.51
138[7.1.138] A2 | cranbena 3rpaga | 1276.07] 695.46 IOCTOEYKH O0JEKT
139|7.1.139] A2 | cranGena srpaa| 688.20| 270.26| 1351.30] 0.15 15.2(11+4 CaMOCTOCH 23 [Bo rpanexna napuenal 51.52.54.B3.B4 / 40% 39.27 CI/IHTEBEH HHAH
140]7.1.140] A1l | cranbena Kyka 118.06| 59.38| 237.52| 0.15 10.2 [TT+2+1Tk HHU3a 2|Bo rpagexua napuesa 51,B1 /10% 50.29
1417 1 141] AL crancena xyka | 210891 147.00] 615751 0.15 102 [T+ 5 E1B1 T10% 69.74 HYMEPHNUYKHA ITOJATOLM
142|7.1.142] Al | cranbena Kyka 89.24 68.44 MOCTOCYKH 00jeKT
143[7.1.143] Al | cranOeHa KyKa 170.19 69.28 | 326.44| 0.15 10.2 [ T+2+1Ix CaMOCTOCH 3 [Bo rpajexxHa napuena 51,.B1 /10% 40.70
144|7.1.144] Al | cranbena Kyka 203.17] 12291 MOCTOCUYKH 00jeKT
145|7.1.145] A1 cranGena KyKa 427.39| 158.27| 633.08] 0.15 10.2 I IT+2+11x ABOCH 6|Bo rpagexna napuena 51.B1 /10% 37.03
146[7.1.146] A1l | ctaHOeHa KyKa 396.56] 187.61| 750.44] 0.15 10.2 | TT+2+11x JIBOCH 6 |BO rpasiexxna napuenal 51,B1 /10% 47.70
147|7.1.147] Al | cranbena Kyka 268.73 83.20 GecrpaBeH 00]eKT HHAHCKA HOKYMEHTA HJA
148]7.1.148] A2 cranGena srpaja | 1159.35] 736.88] 3684.40] 0.15  [15.2/13.5[T1+4/+3+Ikx __[caMocToeH 63| Bo rpanexna napuesaa 51,52,564.B3.84/40% 63.55 M= -1000
149(7.1.149] A1l | cranbGena Kyka 180.97| 125.76 TOCTOCYKHU O0JEKT .
150{7.1.150] A1l | ctaHnOeHa KyKa 213.74] 148231 637.74 0.15 10.2 | TT+2+10x HHU3a 6 [BO rpasiexxna napuenal 51,B1 /10% 69.35 'O_ém'Om 20m 30m  40m  50m 100m
151]7.1.151] Al | cranOeHa KyKa 209.89] 146.57| 586.28 0.15 10.2 [TT+2+11x HU3a 6[Bo rpafieskna napuenal 51,.B1 /10% 69.83
152]7.1.152] Al | cranbeHa Kyka 230.86]1 121.09] 484.36! 0.15 102 | TT+2+ITk CaMOCTOCH 4|Bo rpaexxna nmapuenal 51.B1 /10% 52.45 " n X
153[7.1.153] Al | cranOeHa KyKa 419.73| 186.76 | 747.04 0.15 10.2 [ T+2+1k CaMOCTOEH 6 |BO rpagexsa napueaa 51,B1 /10% 44.49 HOHOFHPOEKT-HPO HOO YIPABUTEIL:
154{7.1.154] A2| cranGenasrpana | 801.52| 486.32| 2431.60| 0.15 15.2111+4 HH3a 41|Bo rpagexsa napuenal 51,62.64.B3.B4 / 40% 60.67 APYIITBO 3A IPOCTOPHO U YPBAHUCTUYKO MNTAHUPAKBE BanenTtuna
155[7.1.155] A2 | cranbena 3rpaga | 249.87| 194.18 HOCTOEYKHU 00]EKT ITomocka
156 7.1.156] A2 | cranGena srpama [ 152.81[ 86.14[ 344.56] 0.15 10.2 [ T1+2+11k HU3a 6 |Bo rpagexkna napuena 51,52,564,B3.B4 /40% 56.37 JUATLILHHT. apX.
157[7.1.157] A2 | cranGena srpana | _184.31] 72.86] 291.44] 0.15 10.2 [T1+2+10x Hi3a 5[Bo rpaneskna napuena b1.52.54.B3.B4/40% 39.53 FrOCTHUBAP
158]7.1.158] A2 | cranbena 3rpaga | 255.36| 131.54| 526.16| 0.15 10.2 [ TT+2+T1k HH3a 9 [Bo rpagexna napuenal 51.52.54.B3.B4 / 40% 51.51
159]7.1.159] A2 | cran6ena srpaga| 169.23| 100.48 [ 502.40] 0.15 15.2]11+4 HI3a 9|Bo rp.mapi.u Ha mapk.| 51,62,64,B3.B4/40% 59.37 HAPAYATEJL ONITUHA OXPU
160]7.1.160] A2 | cranbena 3rpaga | 540.12| 246.00] 1230 0.15 15.2|11+4 CaMOCTOCH 21|Bo rpanexxna napuesal 51,62,64,B3.B4 /40% 45.54 UTAH: IETAJIEH YPBAHUCTUYKMU ITITAH DA3A:
161)7.1.161] A2 | cranbena 3rpaga| 639.95]| 355.95| 1423.80| 0.15-1.2 12.0 [ BIT+2+11k CaMOCTOEH 26 |BO rpajexHa napuena 51.52.54.B3.B4 / 40% 55.62 32 Y37, Brok 7.1 IUIAH
162]7.1.162| B2 | ron.tpr. egmammal  966.92| 670.39 [ 2534.42 ] 0.15 15.5 /8.0 [TT+4/+1 CaMOCTOEH 73 |Bo rp.mapi.u Ha mapk.| A2,A3,A4,53.64.B3.B5 /40% | 69.33 BO OXPHJ[ OTIITHHA OXPHJL
163|7.1.163| A2 | cranGena srpaga| 504.40| 216.90| 1084.50 0.15 152{11+4 IBOCH 18|Bo rpajesxHa mapuena) 51,62,64.B3.B4 / 4OZAJ 43.00 IPUTIOT: CUHTEREH TJIAH PA3MEP: TEX.BP.
164]{7.1.164] A2| cranbena 3rpajga| 533.26| 233.41[ 1167.05] 0.15 152 [11+4 JBOCH 20| Bo rpajexHa napueaa 51,562.54.B3.B4 /40% 43.77 1:1000 48/08
165]7.1.165] B3 | obiexr-kyatypa | 1540] 1540] 15.40] 0.15 341 camocToeH N = — HYMEPUYKHM ITOJIATOLN :
166|7.1.166| B4 | momuimc.ctanuial 2874.96| 1100.58 TIOCTOEYIKH OOJEKT PABOTEL THM:
167]7.1.167]_A2 | cranbena srpaga | 2393.84| 1400.72 | 5358.57| 0.15-1.2]16.2 /8.0 [ T1+4/+1 CaMOCTOEH 97 [Bo Tpaniexxna mapuena b1,52.64.83.84/40% 60.67 *| TUTAHEP: Bacun Ierxocku, mua  osnact.0p.0.0054 | MHOPACTPYRTYPA: AATA: IIPHIIOT:
BanenTuna ITonocka, gua osnact.6p.0.0078 | Bmaroja Aracracmecku, Aru Cenremspn,2013r| 6p: 7/a

Cujue TpudyHnoscka, ina




